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Read the Resource Booklet and then answer all of the following questions in the spaces provided.

1 In Document 1, Peter Singer argues that it is wrong not to give money to relieve world poverty.
Explain how his argument is both strengthened and weakened by expertise. [6]
2 (a) ‘Whatever money you’re spending on luxuries, not necessities, should be given away.’
(Document 1 paragraph 6)

Briefly explain how this claim is weakened by two problems of definition of the word
‘necessities’. [4]

(b) ‘The poor are more generous than the rich. The bottom fifth of society give 3% of their income
whereas the top fifth give just 1%.’ (Document 5 paragraph 1)

Briefly explain how the support for the claim in the first sentence is weakened by one problem
of definition of the word ‘generous’. [2]

3 Evaluate any one possible choice which individuals can make about giving or not giving to relieve
world poverty, such as giving 10% of their income to charity, including but not restricted to the
relief of world poverty.

You may use this example or any choice of your own.
You should use three appropriate criteria (such as fairness) for your evaluation. [12]
4  Write an argument to support any one possible choice which individuals may make about giving

or not giving to relieve world poverty.

In your argument you should use some relevant principles and explain why you have rejected
at least one alternative choice. Support your argument by referring critically to material from the

resource booklet. [36]
Question 1 See page 3
Question 2 See page 4
Question 3 See page 5
Question 4 See page 7
Additional answer space See pages 11 to 12
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3
In Document 1, Peter Singer argues that it is wrong not to give money to relieve world poverty.

Explain how his argument is both strengthened and weakened by expertise.
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2 (a) ‘Whatever money you’re spending on luxuries, not necessities, should be given away.’
(Document 1 paragraph 6)

Briefly explain how this claim is weakened by two problems of definition of the word
‘necessities’.

(b) ‘The poor are more generous than the rich. The bottom fifth of society give 3% of their income
whereas the top fifth give just 1%.’ (Document 5 paragraph 1)

Briefly explain how the support for the claim in the first sentence is weakened by one problem
of definition of the word ‘generous’.
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Evaluate any one possible choice which individuals can make about giving or not giving to relieve
world poverty, such as giving 10% of their income to charity, including but not restricted to the
relief of world poverty.

You may use this example or any choice of your own.
You should use three appropriate criteria (such as fairness) for your evaluation. [12]
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Write an argument to support any one possible choice which individuals may make about giving
or not giving to relieve world poverty.

In your argument you should use some relevant principles and explain why you have rejected

at least one alternative choice. Support your argument by referring critically to material from the
resource booklet. [36]
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END OF QUESTION PAPER
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ADDITIONAL ANSWER SPACE

If additional space is required, you should use the following lined page(s). The question number(s)
must be clearly shown in the margin(s).

© OCR 2017



OCR

Oxford Cambridge and RSA

Copyright Information

OCR is committed to seeking permission to reproduce all third-party content that it uses in its assessment materials. OCR has attempted to identify and contact all copyright holders
whose work is used in this paper. To avoid the issue of disclosure of answer-related information to candidates, all copyright acknowledgements are reproduced in the OCR Copyright
Acknowledgements Booklet. This is produced for each series of examinations and is freely available to download from our public website (www.ocr.org.uk) after the live examination series.

If OCR has unwittingly failed to correctly acknowledge or clear any third-party content in this assessment material, OCR will be happy to correct its mistake at the earliest possible
opportunity.

For queries or further information please contact the Copyright Team, First Floor, 9 Hills Road, Cambridge CB2 1GE.
OCR is part of the Cambridge Assessment Group; Cambridge Assessment is the brand name of University of Cambridge Local Examinations Syndicate (UCLES), which is itself a
department of the University of Cambridge.

© OCR 2017



